
QUESTION BANK SURVEY & GEOMATICS 

1. What are the two basic principles of surveying?  

2. What are the factors on which precision of survey-depends? 

3. Give the conventional signs used to represent the following surface features on a 

survey map 

4. Canal (ii) Unmetalled road 

5. What is a well-conditioned triangle? 

6. What is the importance of parallax measurement? 

7. What is meant by ‘Tie line’?  

8. Differentiate between open and closed traverse. 

9. What is meant by true bearing of a line?  

10. What is meant by orientation of the table in plane table surveying?  

11. Define Bench mark. How is it established?  

12. What do you understand by horizontal equivalent in contouring? 

13. Differentiate between Claw screw and Tangent screw. 

14. What is Traverse? List various types of traverse. 

15. What is meant by 5° curve? What will be the corresponding radius of the curve? 

16. Define the terms ‘Point of curve’ and ‘Point of tangency’. 

17. What is Tachometry? Describe its uses. 

18. What is Baseline? List the methods for baseline measurements. 

19. An offset is measured with an accuracy of 1 in 40. If the scale of plotting is 1 cm = 

20m, find the limiting length of the offset so that the displacement of the point on 

the paper from both sources of error may not exceed 0.25 mm. 

20.  Define local attraction and how to detect it. Why is it important to ‘work from 

the whole to part and never from part to whole’ in surveying.  

21.  What is Bowditch rule? 

22.  What is the minimum number of ranging rods required for ranging? 

23.  What are the principles of surveying? 

24.  Differentiate between FB and BB. 

25.  What is meant by well-conditioned triangle? Why is it necessary to use it? 

26.  Name the various plane table accessories. 

27.  Distinguish between line of collimation and line of sight. 

28.  What are face left and face right observations? 

29.  Deduce the relationship between degree and radius of curve. 

30.   A chain line AB crosses a river, C and D being on the near and distant banks, 

respectively. A point O at right angle to AB from C is fixed at 50 m and at O the 

bearings of D and A are taken so that the included angle DOA is 90°. AC is then 

measured as 30 m. find the width of the river. 

31. Explain the Bowditch and transit rule for adjustment of closing error in 

theodolite surveying. 

32. From the following data calculate the height of the chhajja from the floor level: 

RL of the floor –100.000, staff reading on the floor - 3.125. staff reading at the 

bottom of the chhajja with the staff held inverted is 1.875. 



33. What is tangential tachometry ? Explain its general theory? 

What are the different methods of locating contours? Describe merits and 

demerits of each. 

34. What are the characteristics of contours? Explain clearly with diagrams. 

35.  Explain the Three Point Problem giving details of different types of solutions to 

the problem. When does the theory to solve the problem fail? 

36. How are curves classified? Explain the following terms in connection with curves 

(a) Vertex 

(b) Arc length 

(c) Long chord of the curve 

(d) Summit 

37.  The chainage of the intersection of two straights having the deflection angle of 

50° is 1680.5 m. If the radius of the curve is 450 m, calculate the following 

a) Tangent distance.  b) Length of curve.  c) Length of long chord.  d) Degree of 

curve. 

38. What is Baseline? Explain the different methods of baseline measurements. 

39. What are the possible sources of error while using a theodolite? How can they be 

eliminated? 

40. Differentiate between surveyors compass and prismatic compass. What types of 

adjustments are made in these compasses? 

41. What do you mean by two-point problem in plane table surveying? 

42. Write any two characteristics of Earth Resources Satellite. 

43. Differentiate between Crab and Drift. 

44.  Explain the objective and the basic principle of triangulation. Also, explain the 

different triangulation systems. 
45. Define photogrammetry. 

46. What is the effect of curvature of earth on surveys? How can they be removed? 

Explain. 

47. What is an Angle of Parallax? 

48. Define radiometric resolution. 

49. How is vertical angle measurement made with the help of Total Station? 

50. Explain the objective and the basic principle of triangulation. 

51. Explain various types of EDM instruments in detail. 

52. Why atomic clocks are used in GPS survey? Name and explain any two segments 

of GPS system 

53.  The following bearings taken on a closed compass traverse: 

Line   F.B.        B.B. 

AB       80° 10'     260°00' 

BC       120° 20'    301° 50' 

CD   170° 50'    350° 50' 

DE   230° 10'    49° 30' 

EA   310° 20'    130° 15' 



Compute the interior angles and correct them for observational errors. Assuming the 

observed bearing of the line CD to be correct adjust the bearing of the remaining sides. 

54. Give the primary classification of ‘Survey’ and distinguish between them. 

55. Explain the chaining operation. Who is the actual surveyor- leader or the 

follower? Why? A road 1557m long was found, when measured by a defective 

30m chain, to be 1550m. How much correction does the chain need? 
56. Explain atmospheric windows. 

57. Draw schematic diagram of geodimeter. 

58. What is WGS-84? 

59. Discuss in brief salient features of Meteorological satellites. 

60. Define remote sensing. 

61.  What is a two-point problem? Explain with a neat sketch the procedure of 

solving a two-point problem in plane table surveying. 

62.  What are the characteristics of contour lines? 

63. What is a satellite station and phase of a signal? 

64. Discuss crop health monitoring from remotely sensed imageries. 

65. Explain applications of remote sensing in hydrological science. 

66. What is Geodimeter used for? 

67. Define GIS 

68. Why atomic clocks are used in GPS survey? Name and explain any two segments 

of GPS system.  

69. Why is balancing of back sight and foresight necessary? Explain with a neat 

sketch. To find the RL of station B, two observations are taken by a theodolite 

from station A one to a BM and the other to the station B. The record are as 

follows: 

 

 

              Find the RL of B and the distance between the BM and station  

          70. Find the missing figures and complete the level page book. Apply usual 

               arithmetic checks. 



 

b) What are constants of a tachometer and how they are determined? 

       71 The following data is available for a closed traverse ABCDEA: 

 

Check for angular error and correct it, if necessary. 

b) The elevations of two proposed triangulation stations A and B, are 140m and 416m 

above MSL, resp. The elevation of an intervening peak at C, 60km from A, which is likely 

to obstruct the line of sight, is 150m: Ascertain if A and B are intervisible, and if not, find 

the height required, for the scaffold at B so that the line of sight clears C by 3 m.  

 

72. Write short notes on: 

a) Rise and fall method 

b) Temporary adjustments of theodolite 

c) Elements of simple circular curve 

73. Name various sensors on board of Indian Remote sensing satellites (IRS). 

74.What do you understand by spatial data and attribute data? How are they integrated 

to make a GIS? 

 

 

 


